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CORRIGENDUM

Q.11) Who of the following was bestowed with the title “‘Mammalan” which
means a great wrestler?

a) Narasimhavarman 2

b) Narsimhavarman1

c) Dantivarman

d) Mahendravarman 1

The answer to this question is given (a). However, the correct answer should
be (b) Narsimhavarman 1 (630-668 A.D) after defeating and killing
Pulakesin 2nd of Badami/Vatapi assumed title Vatapikonda and built port
city Mammalapuram or Mahabalipuram. He was also known as Mammalan
or the great wrestler.

Q.50) Which of the following statements is correct?

a) Both the National Population Register and the National Register of Citizens
(NRC) contain demographic and biometric details of the registered person.

b) The National Population Register (NPR)is being prepared by the Office of
Registrar General and Census Commissioner of India.

c) Provision related to the National Register of Indian Citizens (NRC) was
added into the Citizenship Act via amendment in 2003.

d) All of the statements given above are correct.

The question should have asked for incorrect statements rather than correct.

Option (a) is incorrect as NRC contains only demographic details and not
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biometric one whereas NPR contains both demographic and biometric

information.

Ans) a
Exp)

https://indiankanoon.org/doc/949775/ -- National register for Indian citizens.

http://censusindia.gov.in/2011-Common/IntroductionToNpr.html -- NPR

shall be conducted by the Office of Registrar General and Census

Commissioner of India.

Q.57) Consider the following statements:

1. According to the doctrine of severability only the provisions of the law or act
that are not consistent with the Fundamental Rights shall be void.

2. According to the doctrine of eclipse when any law violates the fundamental
rights then the fundamental rights overshadow that law or act and make it
unenforceable but not void.

Which of the statements given above is/are correct?

a)lonly

b) 2 only

c) Both1land 2

d) Neither 1 nor 2

The answer here is given as (a). However, it should be (c) i.e. both the

statements are correct
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Ans) c

Exp) Option (C) - both 1and 2, is the correct answer.

Statement 1 is correct: The doctrine of severability is related to Article 13 of the
constitution and means that law in contravention to the Fundamental Rights, is
void only “to the extent of the inconsistency or contravention” with the relevant
Fundamental Right. This means that an Act may not be void as a whole, only a
part of it may be void and if that part is severable from the rest which is valid,
and then the rest may continue to stand and remain operative.

Statement 2 is correct:

The doctrine of eclipse means that an existing law inconsistent with a
Fundamental Right, though becomes inoperative from the date of the
commencement of the Constitution, is not dead altogether. It is overshadowed

by the Fundamental Right and remains dormant, but is not dead.
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